
REV
ISIO

N
 - SBSEVW

:02052019 V2
A

45100-0001

EXTEN
D

ED
 V

ERTICA
L W

A
LL (U

N
D

ER EA
VE) M

O
U

N
T

SU
ITS: SD

J6502 65CM
 SA

TELLITE D
ISH

PRO
D

U
C

T C
O

D
E:  SBSEVW

450 m
m

 W
ID

E W
ITH

 ELO
N

G
ATIO

N
 

SLO
TS FO

R EASE O
F M

O
U

N
TIN

G

 

IN
STA

LLA
TIO

N
 O

PTIO
N

 1: 
M

O
U

N
TIN

G
 TH

E M
A

ST PO
LE  

O
N

 TH
E "O

U
TSID

E" O
F TH

E
 

A
N

G
LED

 M
O

U
N

TIN
G

 BRA
CKETS

IN
STA

LLA
TIO

N
 O

PTIO
N

 2: 
M

O
U

N
TIN

G
 TH

E M
A

ST PO
LE  

O
N

 TH
E "IN

SID
E" O

F TH
E

 

A
N

G
LED

 M
O

U
N

TIN
G

 BRA
CKETS



SBSEVW
 IN

STALLATIO
N

 IN
STRU

CTIO
N

S:

STEP 1 - (Low
er Bracket w

ith Pin #5) Pre-assem
ble the low

er bracket (#5) using one U-
bolt clam

p (#3) and tw
o flange nuts (#2) to the m

ast pole (#6). Ensure the location pin on
the low

er bracket (#5) is correctly aligned and inserted into the hole of the m
ast pole (#6).

Secure the low
er bracket (#5) to the m

ast pole (#6) by tightening the tw
o flange nuts (#2)

on the U-bolt clam
p (#3).

N
ote:  the m

ast pole on the outside or inside of the upper and low
er brackets. The m

ast
pole (#6) can be installed to the outside (option 1) or inside (option2) of the upper &
low

er brackets (#4 and #5). The U
-bolt clam

ps (#1) m
ust be inserted and assem

bled
correctly w

ith the upper and low
er brackets (#4 &

 #5) according to chosen option. Please
refer the assem

bly draw
ing sheet.

STEP 2 - (U
pper Bracket #4) Pre-assem

ble the upper bracket (#4), U-bolt clam
p (#3) and

the m
ast pole (#6). U

sing tw
o of the U-Bolts (#1) and the flange nuts (#2).  Finger tighten

them
 to secure the upper bracket (#4) and before tightening the upper bracket (#4)

m
easure to m

ake sure that there is a m
inim

um
 clearance of 300m

m
 from

 the bottom
bracket (#5) and that both are aligned to sit flat against the w

all.

STEP 3 - Position the assem
bled m

ount on to the brick surface and ensure the upper
bracket (#4) is not set w

ithin the top three courses of bricks of the w
all, or w

ithin 300m
m

of any corner of the w
all including w

indow
 fram

e recesses.

U
sing a m

arking pen m
ark a drilling hole on the brick and not the m

ortar on one end of
the upper bracket (#4) then drill the first hole. N

ote that the m
asonry anchor m

ust go into
the brick and not the m

ortar.

STEP 4 - Reposition the m
ount against the w

all and insert then secure and tighten the first
m

asonry anchor.

STEP 5 - U
sing a m

agnetic level adjust the m
ast pole (#6) so its vertically levelled then

again using a m
arking pen m

ark then drill the second hole of the upper bracket (#4). Again,
note that the m

asonry anchor m
ust be set in the brick instead of the m

ortar. Insert and
tighten the second m

asonry anchor.

STEP 6 - Drill the rem
aining tw

o holes on the low
er bracket (#5) once again noting that

the m
asonry anchors m

ust be set into the brick instead of the m
ortar. Secure the low

er
m

ount bracket (#5) by inserting and tightening the tw
o m

asonry anchors.

REV
ISIO

N
 - SBSEVW

:02052019 V2
A

45100-0001

IN
STA

LLA
T

IO
N

 O
PTIO

N
 1:

 
M

O
U

N
TIN

G
 TH

E M
AST PO

LE  

O
N

 TH
E "O

U
TSID

E" O
F TH

E
 

AN
G

LED
 M

O
U

N
TIN

G
 BRACKETS

IN
STA

LLA
T

IO
N

 O
PTIO

N
 2:

 
M

O
U

N
TIN

G
 TH

E M
AST PO

LE  

O
N

 TH
E "IN

SID
E" O

F TH
E

 

AN
G

LED
 M

O
U

N
TIN

G
 BRACKETS


